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(B ILHEREST)
3 s i HIFE R (ko) 1 #Y3E Xt ERE |
A—k AH HY5E | HEREE] | Hfike) | BEF) | HEME) | REFE) | SEE | HEE) | RiEE)
130100|72 W2 A et 4,415
1301002V A T 3,500 0 3,420 10 1,728 1,296
130100|72 W2 A FE 345 0 345| 10 756 540
1301002V A % 420 320 10 1,728 1,296
130340[#IcA LA et 13,740
130340[#ICA LA & 5,150 5,150 10 1,944 432
130340[#IcA LA s 3,650 3,650| 10 1,836 972
130400(Z1% 5 e 584
130400| 1% 5 7% 260 0 260| 10 7,020 2,376
130600|1LA Z A e 453
1306001 A Z A s 445 0 445 5 3,888 864
131100({H 3 e 10,390
131100{H % I, 10,390 0 7,075 15 1,404 378
131700|F + R 1 20,512
131700(%F v~ A 7,910 7,110 10 1,404 778
131700|F v+~ FE 9,102 9,102| 12 864 540
131700(%F v~ FMFrb 1,500 1,500( 10 864
131800(1F 5 N A E e 2,487
131800(1F 3 WA E I & 1,397 0 1,361 3.6 3,564 2,052
131800(I1F 53 A E & 492 382 110 0.2 108 76 65
131800(1F 3 WA E =1 369 0 365| 4.5 2,700 2,295
131910(Fh & e 895
131910(Fh & PN 14 14| 05 702 324
131910(Fh & B[] 250 250 1 540 216




131910(Fh & ) 390 0 390 10 4,320 3,564
131950|H A & e 1,342

131950(B & =33 195 0 15 5 2,592 2,484
131950(A R & BER 670 0 450 3 1,728 756
131950|B A& R 309 0 309 3 1,134

131950|H A & BB 108 0 108 3 1,188 1,134
133400(L % 2 et 17,124

133400(L % % R 8,836 0 8,836 10 1,728 648
133400(L % 2 FE 7,610 0 6,110 10 1,501 432
134100|#A/1 e 20,475

134100 |#8/1 S 2,415 0 2,415 5 1,512 810
134100|#A/1 &) 2,605 0 2,605 5 1,620 972
134100 |#8/1 iR 2,905 0 2,905 5 1,728 1,080
134100 (&A1 = 1,530 0 1,260 5 1,836 1,037
134100 |#8/1 =l 9,295 0 8,075 5 1,728 972
134100|#A/1 BRS 475 0 475 5 1,242 1,188
134200|/ M et 640

134200|FE M —a1—-Y—-5vF 640 0 210 10 1,836 1,080
134300 (%67 et 5,688

134300|50F Ee 639 639 2 810 432
134300 (%6 7 Syt 4,264 4,012| 0.3 130 86
134300(#6F £=1iA 730 645 0.3 130 119
134400| k< k et 5,930

134400| k= k FE 1,398 1,398 1 324 292
134400| k< k REAR 4,514 4,494 4 1,512 1,080
134500| & —~< >~ e 5,441

134500| " — < > [SE il 810 810| 0.15 81 65
134500| &’ —~< >~ (= 3,486 3,486 0.13 70 54
135100[ LA T A et 100

135100| WA A ERE 80 0 80 2 2,376 2,160




135200|%= ¥ 93

135200|%= BE 35 35 1 1,512 1,134
135300|— X ¥ 202

135300 &"— X A 42 42 2 2,592 2,376
135300|— X BE 140 120 4 3,780 2,592
136100(AA L & ¥ 8,990

1361001 A L & T 7,140 0 5

136100(AA L & BE 650 615 5 1,836 1,188
136200|%inE ¥ 18,540

136200(F % Rl 5,060 5,060 10 3,078 2,700
136200|%inE BB 12,280 12,280 10 4,320 2,171
136600|7z & ¥ 59,305

136600|7- & BE 53,590 53,590 10 2,916 756
138100({& L W /o lF ¥ 1,104

138100 L Wizl fig Ly 180 180 0.08 73
138100({& L W /o lF BE 674 530 0.2 259 86
138500| L& LE ¥ 2,487

138500(L® LE g 2,487 1,982 0.2 91 72
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28 os e MR (k) % #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
241260|HE AN A Eoe= 860
241260|HE AN A BRE 860 0 860 10 3,456 2,484
2428303 LW AT Eoe= 7,380
242830|.5 LW AT S 7,380 0 2,620 10 5,400 2,160
242850(FEMY A Z Eoe= 170
242850| MY AT B 170 0 170 10 3,780 2,700
243950( ' Eoe= 52
243950(U'h K& 18 0 18] 0.25 702 626
2452201777 =7 Eoe= 11
245220|75 7 =7 iiE:t 11 0 11| 0.4 1,512
246000({\ 5B & Eoe= 3,177
246000 LB & FLE 341 129 212| 0.25 378 216 486 216
246000(\ 5B & I 386 0 344  0.25 648 162
246000|L B & & 837 0 7521 0.25 468 248
246000({\ 5B & = 98 0 98] 0.25 390 356
246000|L B & K& 835 0 810 0.25 378 162
246000({\ 5B & REAS 653 0 631 0.25 302 151
247100| 7 — L2 X O |## 246
247100| 77—/ R A A v ) 246 0 246 9 15,660 7,560
247420\ 7 v TR A A Y ¥ 710
247420\ 7 v F A A AV REAS 710 0 400 5 4,104 3,780
2474917 4 v o — A B K 975
2474917 A4 v — A0 Tk 345 0 140 5 4,860 3,240
274917 4 v — X O & 630 0 435 5 4,536




24830078/ ¥ 2,025

24830078 /1 REAR 2,025 570 15 6,674

248800|Z 7= £ A/ ¥ 790

248800| = /= £/ Rl 790 520 10 6,264 4,320




